TRADEMARK
HARDWARE

PRODUCT SPECS

WORLD OF QUALITY HARDWARE

TOP BOLT SHOWN

., 23/4" Mortise |,
o

Frame Lip Strike
(two) 8 x 3/4"

All Purpose Screws
with Rawl Plugs

61/16" Morti
l— 3/3" Backset

NOT TO SCALE

Top Bolt Head Guide
, (three) *10x 1"

se
Sheet Metal Screws

81"

Mortise

] Uy

e e s e
K T_ |_J__H__A-""’F |
rad. 1/4" ' - . e |
/8" Mortise —jle— I
!
'2" Mortise

(two) *8 x 3/4" All Purpose Screws
(two) ¥8-32 x 1/2" Machine Screws

Mortise

www.tmhardware.com

©

845-388-1300

27 B

1/g" Mortise

71/g" Mortise

NOTE: When two point engaging
with latching action is required. it
is recommended that one constant
self latching flush bolt be used
with one auto flush bolt. Self
latching flush bolt should be
installed at top of door.

SKU: R2945-2905

845-388-1388 sales@tmhardware.com




Tt A PRODUCT SPECS

WORLD OF QUALITY HARDWARE

BOTTOM BOLT SHOWN
1 NOT TO SCALE

Mortise  (two) *8 x 3/4" All Purpose Screws

fica i i (two) ¥8-32 x 1/2" Machine Screws
U TI rT 2" Mortise
4" =1 ] o
R i o, ' g
Tl I s /e W/ LOgg |
rad. l/g" :::::l:f::.}f:lj_f 1y /g" Mortise e !
N ‘;.j.;.f“ﬁw
& 5 Shbinll oy
= 'i il _T _j:j'_j:j'.j'.j'_j.'j'_:::'_:i_
S I o I L Tt s
Em LoD
= TE iy
S l:}:l:}:'—:}:l'/
21 OO I
o IR SO
q a 81/" Sl 7Y Mortise
o1 1 [ Mortise SRS
% T e N N e
| f S [ s i i
e ¢ | e
v G
2] | ; || -------------------
S I h i AT
| i || ______________________
i@ I e
1T H
SN I e
—
o
21" 1 19/16"
| .
S o
T —— :
Bt i:':-:':-:':-:':-:':-:':-:':-:-:-:'.
le— 3/4"
Active Door Strike (two) :Hl—*i P " Baffkser !
*3 x 3/4" All Purpose Screws ' 174" =————61/15" Mortise———— " Bottom Bolt Head Guide (three)
10 x 1" Sheet Metal Screws
St 08,
Frame Lip Strike (two) *8 x 3/4" |l ! ! /Stop on Frame
All Purpose Screws with Rawl Plugs M i i

3

Srefel [ |
T \ 196" —le—1j0" Mortise

15/3" 1 2l | Mortise
Mortise

SKU: R2945-2905
©

www.tmhardware.com 845-388-1300 845-388-1388 sales@tmhardware.com




	Slide 1
	Slide 2

